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QUESTION: 61
 
Which statement about an Ethernet address is true?
 

A.   It is unique for every system. 
B.   It has an entry in the /etc/inet/hosts file. 
C. It is a 32-bit address divided into four 8-bit fields. 
D. It is a number assigned by the system administrator. 

Answer: A 

QUESTION: 62
 
At the ok prompt (OBP), which command displays the system's Ethernet address?
 

A. banner 
B.   showaddr 
C. my-address 
D. local-mac-address 

Answer: A 

QUESTION: 63
 
What is the function of the network layer in the seven layer OSI/ISO model?
 

A.   It manages data addressing and delivery between networks. 
B.   It manages the delivery of data across the physical network. 
C. It manages user-accessed application programs and network services. 
D. It manages the presentation of the data to be independent of the architecture. 

Answer: A 

QUESTION: 64 
Which two JumpStart client system identification parameters cannot be configured using a name 
service, but must be configured using the sysidcfg file? (Choose two.) 
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A.   time zone 
B. system locale 
C. client host name 
D. IPv6 configuration 
E. Kerberos configuration 

Answer: D, E 

QUESTION: 65
 
Which four vi commands switch from command mode to edit mode? (Choose four.)
 

A.  a 
B.  i 
C. q 
D. A 
E. D 
F.  G 
G. cw 

Answer: A, B, D, G 

QUESTION: 66 
Which vi character sequence replaces all occurrences of the string Solaris with the string Solaris 
Operating Environment in the current file? 

A.   :s/Solaris Operating Environment/Solaris/ 
B.   :r/Solaris/Solaris Operating Environment/g 
C. :%s/Solaris/Solaris Operating Environment/ 
D. :%s/Solaris/Solaris Operating Environment/g 

Answer: D 

QUESTION: 67 
Which vi command is used to copy three lines of text to memory and then paste these lines above 
the current line? 
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A.  3cP 
B.   3yyP 
C. 3yyp 
D. :3c/p 
E. copy:3pp 

Answer: B 

QUESTION: 68
 
What is the function of the hash subcommand of the FTP utility?
 

A.   It performs encryption of every transferred file. 
B.   It enables or disables the filename mapping mechanism. 
C. It toggles hash-sign printing for each data block transferred. 
D. It sets or unsets the filename character translation mechanism. 

Answer: C 

QUESTION: 69
 
Which three subcommands terminate the FTP session? (Choose three.)
 

A.  bye 
B.  exit 
C. quit 
D. close 

Answer: A, C, D 

QUESTION: 70 
Which command should be used to remotely log into a system named pub_server with a user 
account called user1? 

A.   rlogin pub_server -l user1 
B.   rlogin pub_server -u user1 
C. login -r pub_server -u user1 
D. rlogin -h pub_server -l user1 
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Answer: A 

QUESTION: 71 
What is the result of executing the following command? 

# rsh remote_system showrev 

A.   It creates a remote shell on the local machine and executes the showrev command. 
B.   It logs the user into a restricted shell and remotely executes the showrev command. 
C. It creates a restricted shell on the remote machine and executes the showrev command. 
D. It executes the showrev command on the remote system and displays the output on the local 
machine. 

Answer: D 

QUESTION: 72
 
Which single character in a Regular Expression denotes "start of line"
 

Answer: ^ 

QUESTION: 73
 
Which command changes Access Control List data for a file?
 

A.  chacl 
B.   setacl 
C. aclset 
D. faclset 
E. setfacl 

Answer: E 

QUESTION: 74 
Which single character in a Regular Expression denotes "zero or more occurrences of the previous 
character" 

Answer: * 
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